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ECE-320, Quiz #1
1) For the transfer function
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the corresponding impulse response 
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Problems 2 and 3 refer to the following  transfer function  
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2) For this transfer function, the corresponding impulse response 
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 is composed of which terms?
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3) The poles of the transfer function are
a)  2 
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4) An impulse response 
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A possible  corresponding transfer function (for some constant value A)  is

a)
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5) In using partial fractions to go from the Laplace domain to the time domain for a transfer function with no pole/zero cancellations, the number of terms used in the partial fraction expansion is determined by
a) the zeros of the transfer function    b) the poles of the transfer function
Problems 6 and 7 refer to the figure below, which shows the unit step response of a real 2nd order system and the unit step response of a second order model we are trying to match to the real system.
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6) In order to make the model better match the real system, the damping ratio of the model should be

a) increased      b) decreased     c) left alone     d) impossible to determine

7) In order to make the model better match the real system, the natural frequency of the model should be

a) increased       b) decreased     c) left alone    d) impossible to determine
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